X 360 9] 2l Q1 w, x o] =7

@D 2 74 @ 374 ® 874 @ 16 7 ® 3271



2. 2°x32x52, 108 9 | FoFp=?

@D 2x3x5 @ 22x32x5 B 22x3x52

@ 923 x 32 (B 22 x 32



3. 729 do|, 29| Ao], =o|7} Z+Z 42 cm, 70 cm, 84 cm Q1 A5
HA| meFo] g 2717} 7}% AESHA = HIEglo] A gt ‘:}.
bt @ 2 AeuAel ¢ mAz o] Aol Tajelat

a = cm



@ 14=3+11 ® 16=5+11

@ 12=5+7

B 20=94+11

@ 18 =7+11



5. A4 288 O] oF 0] 4ot AFAG Ax3x T4 O] OF40] 5T e
o, a 9] 7S Fotoleh

e =
-



Fojd Zdas Uird YA 7F = 30]

@D 2



A Qlek. o] HAE

7F27}F 15cm , Al27}F 18cm Q1 EFd o] o
ool EoA 7H A2 ALY nefs whEE 1l gt E

2 2 " Qohr1?
D 15% @ 20% 3 25*F @ 30AF 5 35AF



8. I, M, 0 =IxMx0 =2001 & WZst= AR th2 2p¢dS-o]t}. o]
o, I+ M+ 0 °] HHgE2?

@D 23 @ 55 ® 99 @ 111 ® 671



ol A5 5,6,8 = LW HEF 2 7}

9.

B 122 @ 123 ® 125

® 121

D 120
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